AP Calculus Polar Curves and Derivatives Homework B Name:
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3.  Find the equation of the tangent line to the curve r = 3cosf@ whenr =0and 0 <60 < 2rm
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Find values of 8 where the tangent Ilnes to the curve r = 2sinf are horizontal and vertical ove
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Find two equivalent polar coordinates and the Rectangular coordinates for the polar coordinate pair.
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7. Replace the polar equation with an equivalent rectangular equation.
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b)  Replace the rectangular equation with an equivalent polar equation. Your equation should be in r = form.
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9. Find % and d?y/dx? of the curve defined’by the parametric functions x = t3 + 1 andly =t —t.
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10. Find the length of the curve defined by the functionsx = 1 + 3t?andy = 4 + 2t3 over0 < t < 2.
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